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Seation--A
Q. 398-F= 34|, 436-|1= 425,
B42-165= 524
HCF B 391, 425 ard 527
7|3a; Bl4axs 13| 517t
23 | 23 5 85 3 3
] 13| 1+ ]
L
HCE= 13 \
7 i the laxgest numbesr whidy willdivid
398, 436, U542 lequing Yemaindes
3, U, 15 @%Hva&/.
02| \[moaoq D544 o 343- 112

Joomoq ~Ji2544 >HF T2

= 23.5 _ 235

~ 459 459
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Q3.| Fesdmedes = 2. (L+b)

=2 (- 6p>+7 qul’F Z) +:ho4 =~ 5p° + %’b’-)

=2 = ||n3 )
d rjgﬂepq +31p$/\
= - 226 + 32 p% a2 + |6pq

04, q ' x @*)® x (QQ""3 =

(leq*)/‘* X(al)g

LHS!
- & ~f -) 2
= dxa> @q) = 4 ?xq )(Cr-"xq3 X‘fi)“
2a Xa’é 2
=[F-16-1432 492 (@]
= 9 6 + X‘f_ = QA x4 - IX‘}’
2 < b
= 2

LHS = RHs.
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Q5. 'n deeaqon e o
Sum B{if- lntescioy A—WHQS = fn—l—) X160

= (o-2)x18¢

= Bx180 = [440°

one ivitley Angles = 1440 = 144"
, o

Sum 9«,}- ext + Int =[80

ext = 180 — |44

Ext. = 34°

Ext Angle = <4 34°*

lnj:(/mxcgle& = 4 Jmes %— Ext. Angle.

06.| Let Yhe ow'c{n‘v\aﬂ price be 100.
New price = 12018 100 = 120.

dliffesience = 480 126- 100 = 20.

X clecsese fn cmgu,n‘ybn = 25 ms

120

- .JOO s ¥ 5o 0/

6 27
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03 let HCF =9, Lam=9x%

HCE4+ LCm= 500D

X+ 9u= 500

loX = 500 . %= 50

HCF= Bo.
8. [x+I\* = x>
2/ X4

XAV (ot = (w2)d

(2 4290 (A4 = %3+ B+ byt

S 2t D + A+ A4 Brx =344 6t

A+ b2 +4+8%E = @+exE+]2%

S FEh = B10 %

Qu— 12w = -4

- i e i

- 0 2

. —
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4| Wi oxtgional amowd = Rs. .

AL l¥eing 20 3

Remou‘mm amound = Bl 8# X
/ = B0 *)( = 4y

[0's 5
Amoynd Remeting a et Spencling 25 %
=I5/ 68 A= 95 4 o
LA loo” 5
— 22
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Olo.

,,H 2+ (320 2 CH)CBZ)J

- (Hr%z)l

A (H 32)2

('>c+ Y= 32) (- yr3z )

&lo,

D_@ b)?*

4 Ca=b)*)

Il

—- (2 Ca- b))L]

A
2 [
3]

1= 2042b] [ |+2a-2b]
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Oll.|  Tole) clisfance = é9olem,

Let Speed 84 one (4, = X kmlhr

Speed 8 2nd Cak = (’x—-;o\ len] v,

Relathive Speegj N4 A-]D= /2'1 ‘OMLM//W“

Tote) dldan(,q + be bavelled 1 Ghys.

= 690- 0= 4é6lm

666 = 6(2-10)

\|O = 29— 10O

2= 120

X = 60 LCM/AY’

Slpe,gd L9’I]) Ind (W= Ho-10-= Solc'n’//w\_

O12.| Velume = 2.2x10xI0x)0 = 2206 em3.

N ¥2h = L2000

522 x Lyl xh=2200
7 44
h= 2200Xx 4x4x T
2

h= 11200 o,
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Q.13,

Let e pivst numbeste = Y

2nd nunmbey = X+

3vd b, = A+,

AN A+ 2= 5L

AN+ 3= |B{L

X+l = |BE . At]= B2

8ﬁ/

A= 5

Ql4

Jq68 + 31315

2| 968 1235

5
gl 484 - ' Bl 435
5| 55

2| 242

———

1| ') Ul

nl \ I

, ———

2x2x2XIX | é] XX 9X]]

J12) +eI1)
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Q5. Llet yhe numbesr be o

5 F
2% =100 = 44
235
UX= 44X 35

X = 44X 35 o =4 X34

L]

A= 140.

Olel @ . A+ 1\ o | 40
o J A2

(D)% o> 1 4o

- 2

12 = w32+ Vo
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Ql6

o) [ \l: x4+ |
G 5 +2

W 2,

(J\%?‘: * o | =5

y

14161 = %F+ | 4o

W4

A | 146 0

~ 4

ey | 14612 = 14459

v
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011, | L dhe ket & R 2.50= %

drcleef %-ll). Re "5 = Reo—x

A X (22B) ~+ C%oo-s() x5=125p

26 t+ |BOo—- By =125s

— 2B = |1265p—1500

7 2B :,7[3—50

2. 5'71: 150

A=, 2680 = 00 .

275

Ticket - Re. 2.5p = (efe}

V)
ﬁdxd’% Re. B= 306—|06= 200

Q18.| Poasible oubeome = 1,2, 3, 4 &5 &,

(]| Even prime numhty = 2

Pmbaﬂ:.‘hﬁ.—_ Toted Javerablooubeomg ¥ -1

(©) | Non-pvime- non- Composite = 4.

6

R a0 " R — S
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& 19. d"mw "}"_: —2’7_ )WCQJU.X: 53[3
Leng\l, 91'} aduwnnium Shrp= @ Er = G5 ..
ld¥h e’iv— S+n" = ‘JZf - 2 e
Numbes 8 possible eiveles= 374 _ 35 gy,
i 4 B

mm% Alumﬂmum Shp
V = (Aeat| ship)~ Aweaf Farely

S S

= |35 _ ')_I,;b: - 850—-—9_:{-5
|6 20 32,

= 5 >

32
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(020]

In 2N0PQ,

L0PQ=48°

%u om\mda BJ

Reetanglo .

@‘mw

'D)seat (/Aﬂqte% (\)edaﬂme

Hewe . £ =22 |
J
43=4%1+
LRSO =48°,
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S gefion-13
Q21. CP%—- q’bﬁha: R¢ 10
Py 4 -b = lo
o q

CP@’[,. { —i'v}(heu:: Rs. 1O

cpe1 1 Ww= o

IS

C- P 2 teleee = 10 4 1b . o490
' 2y T U aq

= 200

9

spof lotoffeet = Re l0.

P & 1-!3tfee= Re. 1

SPB]D_-}oHec Rs. 2..

loss= C:P— SP— 206 —2 = 200-198

il A9

G—
-—

o
a9 -
— X106

g o — 779 X100 =
Lose Y= o5 X100= oe/qq 200

=%



N\
o Compass
N www.compassdoon.com
RIMC EXAM

3™ Dec’22

SUBJECT- Maths ANSWER KEYS & SOLUTIONS

Q2. dimetes.=Fmm K= p
-

d;‘amei-fﬂc,=\mm—7 Y= mm

"

h: IOCM,- ) IOOWW)

=221, 1 xioo
F 2 2
= F8.5%Fmm?>
\/olumeﬁz wood |’npenu/ Rh- Ah
- =nh( R=~>2)

___:JT__)(]OOX("H:'L_LZ.)

-~ 922 x:oox/lL&t_L\fl L\

kil L2 2 2)

P —

—_—

llxloox 4X 2= 397 42w

Weiqht & %@Lﬂe 78 5% 2 I= 16499 gm.

wa*th%r ceod= 331042x 01 = 2639.99,,

W@gwgl feehel,e.penqlf,_l 64-99+2639.49

b

l

) - = 280498 9m.
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023,

Oi Mesence between ¢ 1 and €1 wz_

2 yoay = PRE

v 10000

R= b/ p-a.

BOO — 1fP RL

(aloleTe)

Boo X000 = PX16XI10

Soox 10000 = P

WeXo)

Gooon = P

P—dy\apaﬁ = R¢. boo00,
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024,

M XD = My XDy

s

M,= 120 men, D= 200-%= 195 na%.

Now, 30 men died,

M, = wen lept= 2p- 30= Qo men_

—

M XDby= My X Dy

20x 195 = WO0X (),

‘-20)()42 = Dy
90

Dy = 260 Dayg

)
Remalm'a b/ood will last lh/—@’z_ 6o mone.
Daw

/] °
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8
@25, (. &p= Bg= 5~

95=(q et) CB%S)\
' ' alb (0' -h) Catb)

() abp= ( 3a+bY— (3a-bY*

abp— (324 b- 3a+b)/3a+b+3a b)

abp=(_2b D (a)

! ol J

()| 143p-= A s

143 p= (36 +63) (F6-63)
,P-'-"- |42 X9 . p= 9
143
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G))

T4i- pi 2p% 13t

A41- p* = (2H13) (21-13)

441- p2= 28 x4 : ¥

.._,pl:-_- ""'2—86, s

p2=- 289

'lp:\‘zgq“
pLiL

I




‘o Compass

St www.compassdoon.com
RIMC EXAM
3™ Dec’22
SUBJECT- Maths ANSWER KEYS & SOLUTIONS
@ 2¢. Given  investmend = Re. 20 000,

Price Hvr Bic\c/;cbe.z R¢ Boo

Price % @fc&dg & tnexesed by 28
{

New ,L’zn‘o@ b Bic&dp'—‘- 115;/91 oo

V

= .‘_,D;i_xeoo

=Z 000

N wmbes % Bieyeleg that canbe

V
P%CMAQ.d.: 2000Q . P

10O



023,

@



N\ |
©,Compass

www.compassdoon.com

RIMC EXAM
g:}g;gé?l‘- Maths ANSWER KEYS & SOLUTIONS
028, In_pana llelogvam PORSs.

Given, T & U mid poivd B PO

PT=TE ~

ST Risesf 28 . Hene , £Ll= 2.2, — (i}

@ L= £.3 CAmnaJc Amles)
In ASPT 2L3=2| — prom (i)
Hence pT=ps  (Chngle oppesite o Soua
€|‘d@£aﬂ+€ erual fn
| spscelos A)
QR=QT (PT=Ps=0R )
Mence P’w»ﬁd.
(Y In ATOR, Te=ef

= 24 =45 ( Argleoppsite fo qudfro(e;

£6=25 ( ANewnach) gl )

= L= 2L 4

=S RT brest ZR.
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(O £)]=43 In APST

ZSPT + 1+<4£3= 180°

LSPT 4243 = 190" . £SpT=|80- 223

£4=25_  \nATOR — O

LROT +44+ 45 = 190

LROT 424 = 180" , LROT= 180~ 224

— &

ZLSPT + 2RAT = 180 Adjacont Argleg

mmm%ﬁg
Foom (D And (D) 1 S

90— 2,2 + 186024 = 180

2(5—3 t£4) = 180

3+ 24 = qp Qi)
Now, 23423+ £4= 180 (_ lineatpaty
Ao+ 2L =130 [ paom (1))
3= 160—90
£T =150

g o8 l C..m- v ptll AR st A g - gt T
- = s o "
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@9, £ b} 96, 240, 334

qQ6=2"x3 _ 240= 21k 3x5

]
334 = 2% x 3y

HCE= 2%x3= 49

So, thene muetbe 48 books fn eachtiadk,

Numbes 0f stacko®] English ooks= %

I

Numh ¢4 Hr Stacke b Hindj Reple= 2490 =5

<8

Numbes 91, sHoelee 91 maths Bopk c= 334 ="2

“+8

03a

Qi) 2 03y (1,405 )X106)

L) €2) (DS (206)

(3"> (212) (3 3) (? 4) (21'5)8 )

“4,) (40 (4,3) (4, 4)(4 £)(4,6)

60 (1) (613) .‘(@@),(\4@@9

Sum B B = (14) (4,1 (243) (3h2)

Tota] taverahle outcome= 4,

Toted ouftome = 34

P’abbabl'[r‘l‘b{ = Fawralble oubtome . 4

Totd outcome 3¢

.—-_-_5—.

{



